Section 7-5: Proportions in Triangles. M

NP | QR
Th . P ——— a b What are some proportions
b SRS CESISE that can be used in this figure?
If a line is parallel to one side of a triangle and intersects the other two sides,
then it divides those sides proportionally. P
a _ b
c d S = =
c 4
Q o a_e
b d
b _ 4
a T C
< _4d
S

Are these triangles similar?

B i T \/C%l lo} Al-Ssin e Find the value of x.
. ] M 20 24 20 — iz
X /
& N I b+d 5/
d atc 18 =
e X X =/8
/
Q R

2]

What other proportions can be used
in this figure because of the similar
triangles?
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Find the value of x.
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Corollary Corollary to Theorem 7-4
If three parallel lines intersect two transversals, >
then the segments intercepted on the transversals q S T’
are proportional. =
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Find the values of the variables.
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Given: a || b || C Find the value of x Given: al|lb]lc || d Find the value of xand y

Find the valueof x. AB =9 EF =8 AC =30

Triangle-Angle-Bisector Theorem

If a ray bisects an angle of a triangle, then it divides the opposite side into two
segments that are proportional to the other two sides of the triangle.
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Find the value of x.
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Find the value of x.
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Find the value of x.

Complete each proportion.
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Complete each proportion.
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